
�����������	�
����
�������
��������
�	�
��� ����
���� �
�
�
!#" �%$'&��	���(�	��)�*�+�*�,

- ��.0/ � ���
132�4657�
�	1358�9���	57:313�
57
���;<�%/������=" �?>(@�)�)

ACB9DFEHGJI7K�G6LNM	IPORQTSNUCDWVXG6YHQTZ%M�S	[\E]Z�QT^_Z�G6`a`bM�cH^Fd9G6c9^<e�G6^X[

f�g�hji8k0l�m�n<o�g�k�h p3q�i8k

��/J���
��r�!�@�+�s�@



ACB9DFEHGJI7K�G6LNM	IPORQTSNUCDWVXG6YHQTZ%M�S	[\E]Z�QT^_Z�G6`a`bM�cH^Fd9G6c9^<e�G6^X[

f�g�hji8k0l�m�n<o�g�k�h p3q�i8k
�����������	�
����
�������
��������
�	�

��� ����
���� �
�
�
!#" �%$'&��	���(�	��)�*�+�*�,

t f�uwv�x tzy v

��:3�{/J����2w��
�.|.|�
132}�

�132 � 
�2w� ~�
��(57
��]:3
������	57��.0� ��:3������.|�
13
�1T���

�1T2 � 
�2w�����
�
13����� � 58���
��1��
1�57��.0/ � ���	�z�(57�
�	1358�|�	� � 57
����
��1_> ���9:3
���
��
�����(������132w�
���
13��� � �	1357�	���

�1T�
2 � 
�2��	�����	�w�	�
��/J�	��� � �w�(�	� � �	13���
�w!��
1 /J
������
5 � �

�������
3>

~J
���58
��J${
��9�����
2w�
13
��
�
���
13���	13���	�}/J���
.|
������
��
��H
����	
�58:T�
132���
�132 � 
�2��	!w� � �?�
��:T
��
���	�	1{.0�����H
�13��.0�����H�������	1{���	58��.|.|�	13���	�|
��<
P�

�132 � 
�2w�9�����]�(�	����� � ��/J����2w��
�.|.|�
132

���$ �	�
�
!������]�	�#
�.|/��
�	!����������������	.�/J����2���
�.|.|��132z��
��(�w��
�13���	�w�	1{��/J�	��
����
1T2z���������	.0��>

~J
���58
��
!�
��=���%
����=�
1 �
���<����
�13��
�����������.0!#�
�J� � �(�T/J�

��
1{13���3� � �
��
����
�H�����]���	���
� � ��/J�����
2w��
�.|.0�
132�>���:T�
��/�
�/J�	�H���
�(5 � �(���	��.|��/J�	������13
������
��58���w�	���\�����(��.|� ������:3� ���	
�����1T�
$ :T�?>

��/J���
��r�!�@�+�s�@



ACB9DFEHGJI7K�G6LNM	IPORQTSNUCDWVXG6YHQTZ%M�S	[\E]Z�QT^_Z�G6`a`bM�cH^Fd9G6c9^<e�G6^X[

f�g�hji8k0l�m�n<o�g�k�h p3q�i8k
�����������	�
����
�������
��������
�	�

��� ����
���� �
�
�
!#" �%$'&��	���(�	��)�*�+�*�,

���H� �������8���
��:3����/J
�/J�	� :3
����
���������
2��
1T���
1 ��$ ���	�w�	13����¡¢
��(/�
����£����/J
�/J�	���|��:T
���58��.|/J
���� - 
�13�b~J
����

58
���¤�¥�¦�¥�§�¥�¨N
�13��
X/J�	���(��13
���
������	.|/J�3���z���	$ ������� uw©jª8«�¬­i7g�o�v�©8©8®j¯�° �
1�~J
���58
��±>
- ��.0/J
����
1T2 - 
�13�£~�
��(57
����
�H��
���:3�	�­�
�
�w�z58��.|/J
����
132�
����%
����²�	�]����
�~��
/J�	� - � �|¡³��1T�´���H.|�	
�13�

�����N2��	������132��(��.|�	��:3�
132�����13��${:3�
�
����:3������:T�	�����­.0�%
�1T�?�������
�	
���13�
132�¡µ�(�{� � 57:�58��.|/J
����
�(��13�¶���	13�\���
�����(��.|�	$ :T
��N��
������	��57:3�	��>z� � �¶��:3�����	�=�
�(�
��1·��� uw©jª8«�¬­i7g�oXv�©8©8®j¯ �(�	�	.|��
|.|���������%���%�=
�13�­58��.|/J
����
�(��1_>
��:3��/J����2w��
�.0�P��:T�%���	�
1}$ �	���������
2w�
13
��
�
�|${���
�����	1\�
1�;<
���������!=
 ¸¹¸j����� � 58� � ���	��ºjºJ���

��
�	58�]���_»���������
�1\�
.0/J�
�	�
.|�	13���	���w��
z/J���	/J����58�	���(���	>­46��1358��;<
������������9���%
����
��»w��������
�10��10���
�(2 � �
���	!w�
��:3
��9���	$�������:3�´
��(���	���H��:3
��
~J
���58
��������
132w�X¡³��
���
�����/��%�X.|������� � �
���	�£����58:3
���
�58���	�¶/J����57�	�(���
132�!3��
���
 �(��� � 57� � ���
132|57
�/J
����
�
�
���
�	�X�����
���	�����	�_���	���
13�
132���:3�X����2�
�13��¼�
����
��1����J��13�	º¹����
���
�!6
�13����������1T2����w/J�
132������	13������58�X���	�
�
�
132 ��:3�P��� � ��:�
���� � �
��:3�9��
���
3>

���3� � ��13�	��� � �3���z�w�9:3
������	�]��:3
�1{�T:3
����	�#/J�	57���	���������	$ �������H��:3�H/J����2w��
�.0���
1�~J
��(57
��±><��:3����/J
�/��%�
�
�9
�1\
������	.|/J���������
�����
�
�J� � ��������:T���	�6/J�	�����%1T58�´�(��.|�´�
�	���(��13�9
���� � ��~J
���58
��
ºj�9� � �
��
����
�
�
���������¶/J����2w��
�.0�
.|�
1T2{½�
��­���
�(���
132 � �
��:3�	�\������.¾�
�	
���13�
1T2{
���� � ��/J����2w��
�.0.|�
132w¿À>­������� kw©8« 
z58��.|/J
������(��1����?~J
���58
��T$ �
��:
- ���];<
��������	>

��:3�X/J����2���
�.|��$ �	���H���
���(�T${���
�����	1��
1���:3
��J���

��
�	58�J����~J
���58
��w� � /J/J�������	�|��� ��:3�X~J
���58
��w�
13���	��/����	���%�
Á h /J�����=�
���	�Â���W��:3�0Ã�13�
�=�	�����
���W��� - 
��
�
������13�

�
��9���%�����	�
�	��>���:3�|�

�132 � 
�2w�|�
��57�
�����|������:T�|13��.0�
13
��
�(��
�13��
����0����&��	13�(�	1�
�1T�0Ä��
����:3!jÅ]$ �
��:�2w�����0���

�2w13���(���
58�N
�1T�058
����	� � �3� � 13�����
.|��58:3�	57���
132�>¶46��1358����:3�	13!
��:3�P/J����2���
�.|�N:T
��w�P
��
�(� ���	�	1�� � 13! � 1T58:3
�132w�	�|�	�658�	/J�J�����<13�	$Æ�
�
�w��
����
�	�����J/����
.|�����
�=�	�(!6��1���� � �<����:T�%�
�(�w�(���	.|�#Ç�
�1��
13���	��/J���	���	�_������.È��:3�X»����	�HÃ�13�
�=�	�����
��� ���J��.|�(���	����
�.�½�:3�	���	�
1T
������	�_���	���	�����	�|����
���É9Ã�!Ê�����
É­��� �²�´Ã�13�
�=�	�����
���	�
��¿�!w
�É9��ËW�=�	���(����1|������:3�����	�����	�
�	�����������	.¾½�
z��� � ��57��.0/J�
�
�	��¿�!�
z58��.|/J�
���%�N/ � ���=�%�w�	�
����Ä�:3�
���	��.|�
��:3�(!?������> !�
�1T��Ã - 4ÊÌÈ~J
��(57
�����1W
0Í<s�)3>����
��� � �­��:T����
��(�¶���­��:3�	�(��~J
���58
������������	.|��
����
$ ���
�����	1{�
1 - >

~J
���58
��X�
��
�. � 58:T�����
��5 � ���(�	�'�

�1T2 � 
�2w�w>\�Î���	58�	13�����
���
�
��2w��
�/J:3�TÏ��
�
�����\@�*�Ð��
���	.|� � 13���	����:3�
:3�	
����
132|���]¸j¸j���
�(5 � �(���
��13!w
�1T
��
�����
�H
�13�£���	��
�����> ºjº���:3�z.|���(���������%1\58�
���	�}/J
�/J�	���9½�${�	�
�J$ ������:0���	
����
132w¿

����·
��(������132Ñ58���
���
� � �·�w� �{
����	��.0
�131�Ò�
�13�'
�1b�	� � 
��
�
�F��������132F�����²����13���	�|�w�Ñ���	57
���.0�W
�13�ÆÌ��	���
�²
������
13�#> Ó_��:3��/�
�/J�	�����{������.Ô
�13�0Ì��	&���132T¤�Õ]�
�¶
��
�(� 2w�����\���	
����
132�>NÄ�������:3ºj����$ 1�
��(���	�(�(.0�	13�J����~J
����
58
��T�
�­��� � 13���
1�Ö×@�@�ØÀ>­��:3
��=��13�����	�(�
��������
��w�
�
�
��������� � .|.|
����
¼��´��:3�´�
�
���	��
�� � ���	Ùw��:3�
�H/J
�/J�	�¶���	/J���%���	13���
.|��/J�	������1T
������w�(�	���=
�������13��
�13��.|���(�­���9�
�¶1T�%57�	�(��
����
�
��� � /J�
�
57
����	��/J����13����.|
�������������:3�	����>��¶:T
��w�
�����
�	�����z����2w
�13�
¼��9��:3�9���	�(�3���3��:3�9.0
����	���

���
���� � 13����:3�9�
��� � �	�����

����/J�	�<
�1T���(58��/J�
58��13�����������
��$
�	13�=�
����13.|�	13�
58���(.0�	���
57�


�13��${�
��:T�
1 �	
�58: 
����	
X.|�����9���]�
�	�(���
1 ���	58���	
��(�
132��������	�����3���
2�1T�
���
57
�1358�w>
���}�(��
�����.|�}57��1T58� � ���
��1T�z
��¶��:3��� � ���(�	�ÀÇ�~J
���58
��<.|
�������
�1W
���.|�
��
����
���

�132 � 
�2w�����������%
�57:3�
132

���	2w�
1313�	���|:3��$Ú���Û/J����2w��
�.0Ù¶�z:3
��w��13�Û���
��������:T
�13�a�	�6/J�	���
�	1357��$ �
��:Ñ��:3
��À>|����$ 
���
�57��1T�(�
���	��
����
�

�58:T�
�	�w�	.|�	13�������<@�+�Ü�s3>¶����:3
��N57�	����
��
13�
�{�
13��� � �	1358�	�0��:3�P���	�(�
2w1��������	58�	13���

�132 � 
�2w�	�(!�����$ :T�
58:�����
����
�
�
�w�	�
�0���|������:3��.|�����_�
.|/J������
�13�À>X� � �_�
1��
���X����
�1T��
�����������.C½�������:\5 � �����	13�]
�13�£/J����/J���(�	��¿�!w~�
��(57
��J���
13���T
����	� � 
����X�����<$ ���
���
1T2����	
��w/J����2w��
�.0��>����T�
��� � �
��
����
�H��1T�
�������]��.|
��
�
!#�(�	�
����58��13��
��
13�	��/J����2w��
�.0�N��:3
��
:3
��=�·��13�
� �����
�=�

��P�
13���	��
�57������13�\$ �
��:F��:3�	�
���	13�w�
����13.|�	13�z
�13�R��:3
��z.|
��w��13� � �(�����z
�1T�Â��������${
����



�3rX�

$ ���
�����	1{����
�13�w��13�H�	�
�(�w>

Ý �XÞ<ßwà�����á���â�ã�ä8åwà����
~J
���58
����
��½�
��
.|���(��¿3
X��������1T2��
������/J�	���

�1T2 � 
�2w�w>�;<� � 2w:3�
���(/��%
��w�
132w!#��:3
��3.0�%
�1T����:3
��3�	
�57:{���	�²�	58�

�
10
�/J����2w��
�.æ:T
��9
�$ �	�
�
�����	���
13�	�}���w/J�´$ :3�
57:|�
.|/J�
��58�
���
�����	����13�	�­��:3�����%2w
��T�=
�� � �	�­���?
�13����/J�	��
����
��1T�
��1Û��:3�����	�²�	58�À>���:3���

�1T2 � 
�2w��2 � 
���
�13���	�	����:T
��X���X${�
�
�­/J����:3�
���
�P�
�
�
�	2w
��9�w
�� � �	��
�13�F��/J�	��
����
��13�(!����
�(��.|��.|�
�6� � �������N58��.|/J�
�
�	�N
�1T��� � 1T������.|��58:3�	58�w�
132�>´ç´��58� � ���(�{57��.|/��
�
�	���´.|
��}13����
�58� � 
��
�
�}����
��
�
��:3�H58:3�	58�w�
132��
.|/J�
���%����1{��:3�H�

�1T2 � 
�2w�H���	���
13�����
��1_>N» � ����:3�	��.|�����	!#��������132����w/J�
132���� kw©8« �������H58��13� � �(�	�
$ �
��:����
.0�	13�(�
��13
��Ê
�13
��������
��><���3��13�9���	���
13�	�<���w/J�	�

apple

�13�

orange
$ �
��:

type
apple = integer;
orange = integer;

��:3�	1 
�13��
������
����
�����
�������:3.0�	���
5N�	�6/J���	�(���
��1 �
13�=�����w�
132
apples


�13�
oranges

�
��/J�	�����%57���
���
�	2w
��±>
4Ê������132�����/J��132��(:3��$ � � /��
1�
P�=
����
�	�������J$ 
��w��>�»w�����
1T�(��
�1358�	!6
���2 � .0�	13���N����� � 1358���
��13��
�13�0/J�����

58�	� � ���	��
�����58:3�	57���	��������/J����/��%������/J��.|
���58:3�
132�>´èP��13���
�z��:3��»w��������
�1·�����	�	����.é���}/J
��(�z
|���
��
����
132
/J���
13�T1 � .0���	�]��13����
P� � ����� � ���
1T�H��:3
��T�	�6/J�	58����
�1��
13���	2��	��Ù#��:3���������	�	.È
����	�(�
��
����
�X
��������
� � ���X����~J
��(57
��
!
�(�
1T58�9�
�3$ 
���13�<���3
X57��13����� � 57���
��1 ��:3
��3$ �
�
��57�	����
��
13�
��58
 � ���9
�1 �	�������	>

��13���	2w�	���w
����

����
�	�N.0
�� �w�P���	58�

����	�0����:3
��=�P
�1�
����(��58�

����	�0��
�1T2��P�����
�	2w
��3�w
�� � �	��!Ê
�13�\��:3�P57��.0�
/J�
�
�	��
�13��� � 13�����
.0��� � /J/J�������	13� � ������:3
��N��13�������	��1T����/ � ���

���2w�{�
13���	2��	���´�
13�����w
����

����
�	�´��:T
�����13�
�
:3���
�|�(.|
��
�w��13�	��>���:T�
���������(�	�	.|�N�
�
���X
����	���=�
58�	!Ê
��
��:3� � 2�:�����58� � �����P� � 13�����
.|�P58:T�%57����132 �����	�N�	�6
�58��

/J�	13
��
���?>

���	� � �<.0���=�9��1 ���z�(��.|�9/J���������%.0�<���3����/J�9
�13���(58��/J�w>

Ý �ê���XÞ<ë��X�8��ì��Håwí�á���á�î�î�á�ßz���Nà�á�î�ï3å�í���ï���ï�ßwà��
���3��13�9���	58�

����	�
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arr20 : array [1..20] of integer;
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var temp : array [1..10] of char;

temp := ’hello’;

n := index(temp,c);
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type string = array [1..MAXSTR] of char;
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type charbuf = array [1..MAXBUF] of char;
charindex = array [1..MAXINDEX] of 0..MAXBUF;
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error(’short message ’);
error(’this is a somewhat longer message’);
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program formatter (...);

var
dir : 0..1; { direction to add extra spaces }
.
.
.

procedure justify (...);
begin

dir := 1 - dir; { opposite direction from last time }
...

end;

...

begin { main routine of formatter }
dir := 0;
...

end;
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...
main()
{

...
}

...

justify()
{

static int dir = 0;

dir = 1 - dir;
...

}
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procedure add10 (var a : array [1..10] of integer);
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type a10 = array [1..10] of integer;
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procedure add10 (var a : a10);
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{ isalphanum(c) -- true if c is letter or digit }
function isalphanum (c : char) : boolean;
begin

isalphanum := c in [’a’..’z’, ’A’..’Z’, ’0’..’9’]
end;
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while (i <= XMAX) and (x[i] > 0) do ...
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while (getnext(...)) {
if (something)

break
rest of loop

}
Ä��
��: 13�

break
�(��
����%.0�	13��!���:3�9���
���(�3
������	.|/J�3�
1 ~�
��(58
����
�

done := false;
while (not done) and (getnext(...)) do

if something then
done := true

else begin
rest of loop

end
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done := false;
while not done do begin

done := getnext(...);
if something then

done := true
else if not done then begin

rest of loop
end

end
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for (i = max; i > 0; i = i - 1)
if (arr(i) != ’ ’)

break
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done := false;
i := max;
while (i > 0) and (not done) do

if arr[i] = ’ ’ then
i := i - 1

else
done := true;
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write(’Please enter your name: ’);
read(name);
...
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{ getc -- read character from standard input }
function getc (var c : character) : character;
var

ch : char;
begin

if eof then
c := ENDFILE

else if eoln then begin
readln;
c := NEWLINE

end
else begin

read(ch);
c := ord(ch)

end;
getc := c

end;
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if fv = failure then ...
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i := 1;
while getc(c) <> ENDFILE do begin

putc(xor(c, key[i]));
i := i mod keylen + 1
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error(’much bigger string’);
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const SIZE = 10;
type arr = array [1..SIZE+1] of integer;
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const SIZE = 10;
SIZE1 = SIZE + 1;
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